normalized X?

< x2/ndf >

< x2/ ndf >

Ratio

<op fp_> (%)

Entries
Mean 1.186
Std Dev 0.8467

[ normalized x? probability |

0.04f--r-rerrrmmmmeeeneeces
0.03§K
[0X07]  RERREFEEERERE EREERS RFEREEEAEEREEE
0.0:
S
I
o 1
H '\
08| \lll‘“\|
02468101214161820 0 0102030
X2
== DQMstep3_QCD_CKF
e DQMstep3_QCD_default
= DQMstep3_QCD_defaultNEWT
= 5
8 E 1
a” kR
~ ]
o +
) 1
v
. 11* |
i} .
5 k- {HE
o :
0.5F ----- - .
o .
-3 -2 -1 0 1 2 3
TP n (PCA to beamline)
A
k<]
c
<
v
o
T
o

107 1072

-1
AR(track, jeltS)



	Contents
	Page 1


